7. 3anauyu Ha BRIYHCJICHHE
BoraucauTs:

3.7.1. [MI'VTuK] tg (2 arccos %)

3.7.2. [MUACuC] sin(2,57 + arctg(0,75)).

3.7.3. [MATH] tg(arcsin% + 32ﬂ)

3.7.4. [MUIT] sin (2 arctg(%)) + cos(arctg 2v/2).

3.7.5. [MAY] cosc, ecnu @ € [g—,ﬂ] u cos2a = sina.

3.7.6. [MAH] sin2z, ecou cos? % =ad’uze [w; %’]
3.7.7. [MTAIIB] (cos® a — sin® @), ecnm cos2a = 0,4.

3.7.8. [MIAIIB] (sin* o + cos® @), ecom sina + cosa = V2
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3.7.9. [MI'AIIB) sin? 20, ecan 12 + 12 + .12 + 12 = 8.
tg°a  ctga  sina  cos“a
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3.7.10. [PTA3Y] %é?% - C;’—i;-&g, ecom sinq — cosa = a.

3.7.11. [MU®U; BA um. Osepxunckoro| tg9° — tg63° + tg81° —tg27°.
3.7.12. [HuxT'V] sin 70° - sin 50° - sin 10°.
3.7.18. [MUST; TACBY] cos 10° - cos 50° - cos 70°.

3.7.14. [pry] 1=4sinllsin70°

3.7.15. [MUDT; MTYCH] 4sin 20° - sin40° - sin 60° - sin 80°.
3.7.16. [M3CH] 128sin’ 20° - sin® 40° - sin® 60° - sin® 80°.
3.7.17. [MITY] tg20° - tg40° - tg 80°.

174 2 —~10 = T
3.7.18. (MT['AJIII] T T dcosdy oM™ ctgfa—3ctga-10=0ul<a< i

3.7.19. [BTUHX] /28100 = SIN20 oomy gp & — 1,

3.7.20. [MAH] ctg(a + fB), ecm tgB =a u 2tgla— f) =tgf —tga.
3.7.21. MAY] tgla+f8), ecmutgB=bnl+tgatgf =4ctgla - f).

96 sin 80° - sin 65° sin 35°
8.7.22. [M3CH] 505 1 5in 50° T sin 110°
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